Korean 1 oA

.e . e “Seoul National University(SNU)
Prof. Soojin Shim @ Korean Language (A2t 3h=0})”
Department of Humanities and Social Sciences N as an educational textbook is a
Indian Institute of Technology — Madras CORJERPEK protected by
aamy  copyright law and therefore, any
Week - 10 ~_ unauthorized reproduction
Lecture - 34 o and/or distribution thereof is

& woeonos|  prohibited.

Level Up Your Korean: New Transcription Format

To enhance your Korean language learning experience, we've decided to provide more
authentic/original Korean transcripts starting from Lecture 18 (Unit 3) onwards. While
English romanization will still be included for reference, we encourage you to prioritize
reading and understanding the Korean script directly.

Here's a tip: Start slowly and gradually increase your reading speed. If you find it
challenging, we recommend reviewing your Hangeul lessons.

Remember, learning a new language takes time and effort. You can do it! Keep practicing
and stay motivated. o2& & 4 lo{Q! mto[&l!

o2}, st R? (QhgstA|R. ) FEHAIR. (P gstA|R. ) Foll xITolAl AR i (g} P o, ),

$2] NPTEL 2| F7-SoA & QAL G HA, yeppeuge, OK, A'F5HA|R. {FF5HAIR.} Q1 1. 25 #2
53, 53, 53 BiYL, right? 5 3F, Bote? 4], 53t viglR. 53k H|Fo] Fo? FHof IS Ao,
{Jumare chingureul mannasseoyo.} That is the title of Unit 5, o\ 9
okay? Not &5}7]. Sorry, Listening 7] €7] deutgi. 22|12 §}7] 87| 3 Unit 5
okay. Reading, reading. £7| 917] HI¥J&. OK so this is €7] €7] 2 U}Oﬂ =K} D}L}

TS E u M
Listening, listening. 7] €71, say it together. 7] {£7]} okay. I a
I just want to ask some questions before we go further, okay‘? _

o2 Qo] BjAolof 82 Oneuri myeochirieyo? {10 €} 12 ¥? Nalh b ) E! 3
29?2 {19 Y} Sibiwol? Did you say 12 €? No no no, right? What did you say? {10 ¥} /\]%f oh okay
okay, good good. 10 ¥. Siwol you said siwol. 10 ¥ H{ZoloQ 25?2 10-9Y. {9} HolR 252 10¥
109, 10 € 194002, Fote. 122 252 10 € 19 Yoo, B2 gYoloe? B2 2?4, 31, &, &, 7,
E 2. {£2%} Wol, Hwa, Su, Mok, Geum, To, Il. & 2%0|0o]27? {EQ%o|o|_ .} EQ%ojoe. &
E9%0|02. 252 10¥ 19¢, E2YU0J92. OK, so one more one more thing? & ool 22 W, nyeon
means year year, okay? & 0] 22 You can say ©]%0]4AH W, okay? 0]Z0]dAF A, icheonisipsam nyeon
W W, okay. We can say nyeon. . This is ' this is &, right? Al ¥-19 %, 5. oJHold4t W Al AT
2, 22 o]H o] means, A A means a thousand, okay cheon. Hundred a hundred means baek. 2 Hj
H vl ¥ baek, okay. Ten ten is sip, okay. A 8 &, got it? OK I'll write it here. 4, this is a sip, right? 4,
this is ¥, okay. This is O|H& &, oA H. slLt & A Y, o]A= T T, okay. A AT A A A A AL 10,

20, 30, 40, 50, 60, okay, 90, B HB ¥l ¥} 4 hundred 100, 100, 100, 100, okay 100. Uh 100, 200, 300, 400,



500, um hmmm.. 900, 1000, & & . A thousand ¥ & uh 1,000, 2,000, 3,000, 4,000, 5,000 uhhuh...
9,000, okay. 73, 10,000, T B, okay man. A}-4-3-BF, A-#8.2-0F OK 2023920233, 10 € 10€ 19%
19, 52%Yolde. 13 &? F2%o|d.. |, it b

100 uH «

2ol8. £7|(Listening)

hoi et )13 (2021), p. 135)

2 =l WS EASIIR(aljjarcul 1, Listen carefully and check the dates. A1 4+%

. - - o 2022 10.19. %
pyosihaseyo). 1) 25°] HAo|oe? 6 ¥ ()4 @ ()Y OLEB A 9 a¢
8§ Yoloe. 2) 50 MACR? 9 ¥ oy gy 4 8 3 = 3 8 8

8 E
3

~N

5 Qojoja. 3) Aol mHole? 7 & , w
16 Lojofl2. 4) Lt A Ado] A2 10 € ‘ 2 ¥
23 Foloflg. 5) opFI2t A, A L2 722 |

2 ¥ 27 9ol 7t8. 6) E2(F A, AA =l 419/4350
$ol22 12€ 31 o]l ghole.” S, Mota? 19, 1 T, 1 ¥ ChA] 32, 1 | ChA] 88, |, SojEA|.,
£018. “1) 250 o276 ¥ 8 Lojof2.” 1 ¥ T}A], 1) 250] HZolo|e? 6 € 8 Yoldla.” Y|, 250]
HZo]o]| 22 Here? 97|04 250] M&0]o| 22 What did you hear? {6 ¥.. 6 ¥ 8 ¥}. 250] HZ0|0]| Q7 T}A].
(628U} 6H8YoolR, 6H 8 Yo|o]R. 6F 8 P2 FoIZ o] ’? Fo|Z, in English? {June 8th.} June
8th, okay, Zol. 122 6 § Zolol8. 6 ¥ g Lojola. 1 212, 2122 «2) 20| Hiolg? 9 ¥
5olof 8. 2) 250] pjolo]g? 94 5Lojof|g.” |, 2 HE HHoldQ, of2|E? o=, 250 HHo9Q?
{99 5} 94, guwol oirieyo. 98 5L FoI|2 o272 94 5UL2? 9 9 94, September 5", okay. 9 4
59, 2ot 69, 20| tjAolog, 2R 11, 50| HAolo2? 6 E 6 E HA0JL, of2|E? 7], of2
8 4 8 Fojoja. g Lojofl&. T Uojofle, B& 2dojof|? & Uojof|2? £8U0jdl2. OK 2%0]98,
2Q9%ojof@ ZHoje 131 » ML ndo|gle] 7 2 7 9 ¥, September. 9 E 9 ¥ 9 ¥, B0l 27 5 Lojoj|Q.
{5 golofle.} & 2YUo|ofl22 Museun yoirieyo? {Z2Uolof|Q.} d_Yo|of|le, FQUoloL. Sunday,

dedolofe. AeUoJL, okay LA, okay. [T FEErEE

We can say this 2%, @7H . &7F &7t is red,
(Cho etal,, 2013 (2021), p. 135)

? It's i
ppalgan nal means a red day, okay? It's like, you 1. Listen carefully and check the dates. ~ A& 43¢

know a holiday, break time, kind of you know o (6)2 %o %mfaa. g. L i‘%
break time of the week. You can see this you know s ® g) .

| g g3 = g 3 4+ =2 5
red color, right? All red here, this is our calendar. T 5.4 ,
o o crado cl ol 5 6 7 '9 0 1 6 7 8
2] £l =27 oL, Calendar, 5 &5 dallyeok, 2 13 m?m 7 8 @13 “ %
Calendar okay. OE]_Q.?—J_] C,E]_g_oa]o]oﬂ_g_ OE]-S-OE] EE}Z_]-IT_-'_}‘ 9 20 2 228 24 25 9 20 2 2

s2many || |xza
Wb 87t a red red day, okay. 018,

o, 22H 3 7te 3 34 38 41 Bojg 3 4. 3) Ao mHolo] 27 7€ 16 Yool 2. 4) LiLt
¥ Ado] AAAe] L2 10 € 23 Yolol2.” &2 u), 38 t}A] 38, «3) o] mjalojo] 2 7Y 16 Lojol2.” U],
3 H2 m{Holo]e? o], 3 HojlA o] miHojofe? (FUo] 7€} 7TE 7TE 7H 169, Yot 7H 16 %,
79 16 Yo] Fo2 Ho| 22 7 ¥ 16 €? Uh June or July? July, 16 16 6 6 6, sixteen, okay, sixteenth, 2to}L.



d] J2]H 49, «4) Lt A, o] A2 10 € 23 Lojofl . LiLt A, «4) LiLt 4], Qo] AAe]e? 10 E
23 Lolof|2 ], Aido] AA|of| 2.2 LI} K] Ado] AA|f| 22 {10 ¥ 23 ¥} Siwol ishipsamil, 23 Z€olollL. 10 €
23 dojo 8. |, Fota? 10 ¥ 23 Y2 FolZ Hojl8, 42187 10 ¥ 23 Y2 FolZ Ho 8?2 {October 23rd}
October 23rd, ZotQ. I3 3H CIA] 3H 3H HAR 7€ 7€ 79 16%9, 7€ 16%L. £ 2YUol027 74
164 72 290J0f|g? o] FHojlA 7€ 16 Y2 F2Y0J8, FoUoloR. £oY Fot_. 52Y, okay. 4 ¥,

4¥e 3 9 opolglar 4 ¥e 3 W melgeler o A

10 € 10 ¥ 23 ¥oJ3lo]8. October, okay? October o g s 4_;: s vy ns®a e
23rd. B2 eollgr o Yol 109 23U BE ., L, . o 18 0 gl
ogoble?  (BeYolle;  Bagele, S irOrc o crer
2edols. of, WYole. Baoln. 9,8 4,8, T EA00 ARy

2, E, 4. OK Zgioje. Za oo, _

) 1204 1550
dl, 22H oA s s 6%, s5H 6 H 3R, 51 6§, «5) op7|2f A, A d2of] 7tR7 2 € 27 Lo 7t8. 6)
22|F A, A gH=oll gole? 128 31 Lol ol . g W 1, «5) o[zt A, A Aol 7122 2E 27 Lo
7t8. 6) Z2|F A, A gz gtole? 12 E 31 Lofl ol ” Wota? o) 23 of2]E 5222 52 sH2
sHE Hla, sH2 Fo22? {2 Y.} You should say that sentence, in a full sentence, okay? OK in Korean.
%7} who who? Who? {0}7]2}} T}A] §HH one more time, “5) OF7 |2} A], Q14| L Eof 71292 2 € 27 Lof| 712
ol7|2} K=, A2, of7|2t K= 2 F 27 Lofl {712.} Where? {229 718} L&) 7t2. Oh, Z3}0|8. Who
first, right? O7|2} Rz, A}, of7|2F A= 2 € 27 Rl D2 712, B&of 7H.. of Z3feja. 2 F 27 Lo] Folz
Ho222 9 27 Y. February 27th February 27th, okay. 23#0|Q. J T} 6 H 6 ¥, “6) Z22|Y A, A gh=2o]|
Fole? 12€ 31 €ofl goja.” 221 Ml 221 A, A A when? {128 304} 12€ 30 € 30 2o or
31 Qo2 {31 €.} Confusing. (laughing..) 3122| %7 o] 172 Q (hetgallyeoyo), confusing, okay. TtA] TFA],
one more time. 3t ¥l § S0]Q. §t ¥ § F0]Q Y. “6) Z2|Y A, A gh=of ghojQ? 12 € 31 Lof| goja.”
), 221 K= Al =0l gole? 221G Me, (E21F M=} 128 31 Lol =0l o2, 302 or 31 %2
(319} “12¥ 31 Lof golR. 12 € 31 Lol goje. 12€ 31 Lof gole.” 12 ¥ 31 Lofl Zol 8, okay, 31 Lol
gole. A4 30, 30 is 12 € 30 2ofl 30 ¥ofl $tolL. 1 would say in the case of 30, okay? 44 ¥of golQ.
30 €l 30 ¥oll. But how about 31, 31?2 A YUoj] gojQ. A Aofl o] Q. OK, one more letter there.
31 2ofl gol2. 31 Lofl $ol . This is 31, okay. U], #3ioj@. I, 5% 59 58222 € 27 € 2 ¥ February,
29279 F& 8Yoj222¥ 279, & Uojdfl? €U 2%, 2 € 27 ¥ E_U 717 ®7h? op7I2t
W7t &2 7tR, AL 7t-. Okay, o7|2t A7t L2of| 718, okay. 6 H22? 6 622 12 ¥ 312 124
31900 b E2F A U0l gele. ifele . g g 0 ( 2)/%
otR? goje? (gole.} OK Aol Y, gtolg. TOT
You remembered that, okay? 0|2, $to]Q. the
past tense, okay? 12 ¥ 31 € 22%0o| 220 e
s20] Shola. © Mao|a Agho], EEsa ofEie B UK T B R U BT
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Now we can move on um. 2 ¥ 2 ¥l Listen carefully and choose the correct answer. But we have to read
the questions here, okay? 1 ¥, 1 1 A& question ZZ Hoj| Q2 1 H AR? (O]2]2 &} DR|Z = 0]2]2 Dl2|RE,
{FLoy AA? F2o] B Hoj22 B §1o| 22 B means what, right? H 1012 F 810122 The present tense
or the past tense? {Past tense.} Past tense, okay? 7] ItA AJH|(gwageo sije,), the past tense, okay. You
have to focus on B}2]2, F% 3% on the weekend and? {Z101L..} 9|, past tense, okay. 30} Q FHo|Q. Very
good, very good. $0t. 2287 2§, U= A2 1242 T= AZ 12X, Choose, please choose-
T 2A|2. Z= A the correct one, the correct statement here, okay. 1%, can you read it? 4]. {Ol2]|2&}
of2] 2= (A3o]} Algo] Bt (Ertay AJFo] £t siheomi kkeunnago, BLERL ELITE to finish, to end,
okay? To finish, to end. 215 3of] F3 3oj 7ol Ftol8. OK. TR E AlHo] Lt AlF A|lHo] Foj=
Hol2? Exam or test, okay? A|go] Lt 2L of Zto]2. AJdo] Eitx 2 Fof] Zhoje 2H 2 W Y],
gloje. 24 gloje. (FlR]2+= FFsta o]} ofcjof? (F&ef 7ta )} nf2|2 = 3175t Zo] B 718, OK,
7tQ 7t8. OK, 7}8 near future tense here, right? From this context. 3 H227? 3 3 H2 nj2|3 = A2
{30 €oll} 30 ¥l or 31 €of? 30 Loll. 30 30 30, okay? 30 ¥of| St=o]l ¢tQ. ot 9tQ °tQ near future,
okay? 3=l 2t8. Are you ready? 4|. “Z £11 2= 72 12418 2| A, o] 7 goj 22 2o 9lelolL.
|2 Ae §H Feje? 3T Aol Ftoja.
23311 gh=olE FRYPo|”. ARl gloj.?
4. £290] Alglo] gloj2. Aol i H
sie? 45t o] L2 7ka. of, 4]
gh2tof] QiA) k22 30 Lofl ek g o, <%

~9
2. Listen carefully and choose the correct answer.

1) B2l 2. Guos) o7

)

/2) Bt 7 €1 T= AL 1248, A X, FEo H
.'n. H
@n}ali Wji°l Ly 317 Aol 3loje. 3ol 27 Aol 5ol .. te] 3 K= B Fhojg?

@ zjas

9553/ 4350 -

il-'nl"}l 29 ‘%J-“‘-°ﬂ ’te.

AL Aol Zolg. Fstn F=olE

F53i01.. Ajgo] gloj2? Y. 4220 Aol gloiL. Algdo] Bt F o2 345t o] A2 7tg. of, ],

ShZof] A 2k2? 30 Lof] ef2.” Y|, WRote | of2{E? Y| FolQ Fo}Q. Okay, let's work it out together.
“Z|A ], FZo]| 7 gl 29 OK. “A|¥ &), o] §] gloj 22 OK, A A, XA K, right, okay. 2|8 A, L

H g10j2? OK so this is a conversation between Jiyeon and Mariko. A& and O}2]2.. 2|5} 1 0f2] 28120
okay. B8 A|@ol 1 of2| 2ot x o] o] Wl Q. v, «A|A A, Tl 7 o] 22 3o 3ol .. ], A|A K=
Faof] 7 o2 (FHoll} 3Hefl isiel. nt2]R M7t 3ol 3ol 2 Z1F A7t Foll iel_? {R1F N7t 3ol
20e12 .} OK don't be confused, okay? A/ |7}, Who did what okay? X &7} 2of] 21101 Q. AA|? When?
Fof) 3ol o] 219 K7 Ao kel L. <ol qigiel . n2] R K= H 3ol e 23 Aofl Ftofe. 275t
gh=olE FRgole . J2H, nj2|2 N FE H 02?2 (IR N FFl|} I 3ol 3tole. I3 A
zole. A7lolM H Fojg? (st} sty o] FZolE FRFolR. EAF FEFIQ(honja
gongbuhaesseoyo)? 31715t o] FRoje? (175tn ol %L%'—i‘ioiﬁ.} Ao, “3l3 Hoj| ZtelL.
X75t1 gHolE FEF0|R. Aol 9ol o2 Y, £2%0] AJRo] 3loje.” o FolE FE30I’? Why? 9?
(Aol el 712 21 W7E, of2| 2 A7t (of2] 2 A7E ) o, BfR] 2 K7 AA]? When? {$2.Q0]]} 290



Aol gloj. & AJRo] 9loj2? §H=o] AJRo] gloje. thA] H, jh=o] Aol gloja. “Alo] glojR? 1,
2990f AJ3o] 9lojQ AJ3lo] Ert1 ] 5|9 2171511 Zo] R0 7k After the test, after the exam, U],
Aol BLIL, okay, Aol BLt H 827 AJgo] Erta § 827 {35t o]} «Aldo] Lt § s.?
Z76t0 o] A& 7k2 4], 3123t o] Q&of 7k, Aldo] BLta FIHsta Zo] Lof 7te. Fotg,
Zotg. «of, 4|, gh=of 24| 2t27 30 Loj| 2k And then, 3Z0] QA ¢k, oj={&? §H3of 30 Loj 2k .. F712
2 A7t mi2]2 A7 (ORR]E A7t} of2|2 W7E Aldo] Bria e 7te. Lo £2F gt 7122 Solo
travel? E&} 7122 o 15t Zo] 7kR? (3 15tn o] 7t ) 7o 7k, X5t o] 7ke. d2]3n A

kR ? o7 eF=of] A 2t22 30 Aofl o] 2k.. 2, Ajloj’, of2}E. OK.

4], 229 1 ¥, 02| 2 2of H loje? o2&, 2o § 3ol 22 nj2| 27 o2 2= FH (3.} 376t
Zo| gh2olg FHgHo|g |, Tote. FE2 F HoloR? 1 ¥, 21, 32 2 oo 8. ], Aol 1 H <t
He? o £287 1122 1 H, 1 2 =322 0j2]2 Ko 22 2|A K22 (RA A..} W], XA N2, A|H A
Z]A A, Why? 22 (3o} Hof| /I3Io1L. Yeah, this looks like, you know her house, right? OK % %,
okay. 3ol 313to1 2. 2|7 A|H W& Fol|, 7], £zt gloj e, F 7 Zo] 9o _? (EA}F) At gloje. 32 of <t
g, ofejio 32 o ot = o2 3, 38 o E2§Q9 (AT gloj_ ) Y|, Fota. AT gloj. oJ7]of &, of7]oflA]
£2} 9lojR. EAF A £} alone. £2 honja, "&", £ 2, this is &, 2} 2t gloj2. Eat sAEH .. £t
3E88, okay? U, 3. W, TR 2 2 7kR T=AS 12AQ 2. o2 1 H Zote? | ¥ Bhot g, of2{E?
1 ¥ ol Yol (£} E2Q2 2 E3Q. 9 E2]27 Wae teullyeoyo, 1 H1? E2Q, E2]Q 9] E2{Q°
(R FHoll.. AZ.} Aol Brtx, Ajgo] Eutn, -

o
49, Listen carefully and choose the correct answer.
1 70| Qo] W15} o] ofto] 7ka? y

25
" s 1) o) 2. G o} 27 ot
(LB 7k ) |, X175t Y EOf 712, right? Not o ‘
S ’

)
07 200] 74912, okay? Altlo] B2 M7sta - }
Sl

2

~—

2
Qe 7ta. P&, A& 7ta. o, 22jH 2 ¥
Tote, E21Q7 (ot} 3 W2 Toia, E3jar
gote. 3M2 glote, £3{Q7 glofa. Y, gofa.
224 34, 29 3ol 2. ], 3ol o,
AL T, okay. Good job, good job. Y. — URIRE 30900 SFo] 2f 8

M ) oA /assTT

e
s

Now we will move on to 971, reading reading, okay? Read Steven's journal entry, answer the following
questions, okay. Let's read it together slowly and clearly, okay? Slowly HX5] 35| M3, clearly
FHFER okay? EHHEHN(ttobakttobak). Let's go. This one, sijak. {11 ¥ 10¥} EQY, 112 10¥ EQY,
St T, (119102 EQY} OK nextone, {252} 252 (EQYolofQ.} {3twof ¢t 7t ) ot 7te. JajA]
{geuraeseo} Z'HF0NN (ol7|2} WotLL 07| K& THEtol .} BistolR. (HIR7] W& ol7|2h A o4zt FdlL.
o} o]l $tol8.} Eoje Hanguge wasseoyo. 20|81 J2|H go|= Fol2. 252 11 ¥ 10¥ EQY.
Fo|2? November 10th, Saturday. Okay, Saturday Saturday. 252 EQ%0]0]Q. {Today is Saturday.}
Okay, today is Saturday. 8t o] Qt 7}2. {Did not go to school.} I don't go to school. I don't go to class,



~ okay? o] ¢k 7tQ. J2A J2jA? So TotQ,

_ “s0”uh so. 22X 7oA 7oA o}t

(. 137

@ Read Steven’s journal entry and answer the following  g|3}1 0]27) A2 BitolQ . Fo]29 I met I met
questions.

87| (Reading)

Akira and Miyuki at Gangnam station. That's
1% 102 E2Y ¢ right, Gangnam station. OK next one. 1 T},
0R7] Al oF712k A oA} 31798, Miyuki is
{Miyuki is Akira's girlfriend.} Miyuki is
Akira's girlfriend, ®A} 213, o2} 21510 Q. ofA]
oA gkZof gkojR. {Yesterday she came to

Korea.} Yes yes, yesterday she came to Korea.
That's right. Yesterday she came to Korea. U], £0}2. Actually, you know, who is 9Z}? Miyuki or Akira?

Who is '§A? {Miyuki.} Okay, okay. Miyuki {®A}} Miyuki ®}A} o2} oJ2}. Akira WA} okay. 'H1d namnyeo,

okay, 'HAI-9J2}, got it? Yl, okay. Don't don't be confused, okay? Because you know, in the listening

section, we saw the female pictures uh about you know Akira. So yeah, it can make you confused yeah,
but I'm I'm saying now you know Miyuki is @A}, Akira is ‘A actually, okay. ©] B]7] K= o2} 2150 Q

okay? ol7|2} A o2} 20| Q ofz} 210 Q. That's why we can tell, right? O137] is 92}, ol7|2} is WAL
OK OfA] gt=of] gkoj Q. AHolQ okay. T2{H this time O]HOl = let's read this text a little bit faster, okay?
Let's go. Okay, now you understood. A13}! {11 € 10¥ EQY. 252 EQUolof|Q. Stwof Qt 71Q. JajjA]
G0l of7]2t Nt n|R7] K& TH5telR. 0] {7] A= of712t A ojzt XISl ojzt 315 Q. ofA] gh=of]
$ole.} Aol Aoj.

% o)

',\-')'\ 2/”
Next paragraph, okay. $2]& 3|
cheoncheonhi slowly, A3}, 22| AlgofA] v22l& AlckoA] ks SALS B M°1-9- e
%3 gxg Wglle. e, #2 gag U By Jlelal iel e ofjer )

30 lo]oﬂg" i} L]»l- ung}goﬂk] 222,
Ato] 97 B b of7je} #} 439 A2 o)o] 9
Backwajeome gasseoyo. Y22 o}7|2} & > S2)& Uil ofs)e} 4 Feja] A gHE2 6

Adolo]| 2, saengirieyo. J2jA J2|A L= é} l’Je

HSIHoA BALE 4t0]Q sasseoyo. BARE o C E s (O
oi7lcl W Y MEo|Q.  saengil |JRLll '
seonmurieyo. S|, we we, $2|& 22| U o7zt A 3ol B el S Q. 2, Fot8. okay, EOI8.
Y|, 22jH 22|= Aldo]|A] 3t 2412 Hojo]Q Fo|Z TE| Q. We we ate Korean food, we had Korean food
at a restaurant. Okay, AlTtol|A] at a restaurant, AGoJA. HE €4 Korean food Korean cuisine Korean
dishes, okay? Korean food Hanguk eumsik. Say it together. Al # Al ¥ TajjQ, of2{2, (3= 34, &=
84, 9% 841} 8 84 4] okay. 2012, 2 ©T Weol 70012, ol ¥ 3 wshlol Zol. OK

Holelg. de #a  wsRHo]  zlols.

we we had food and then, went to the department store. OK shopping mall, shopping mall okay. 3}
H5E-o] 7ol 2. JEL tomorrow ©OF7 |2} A] ALoloflQ. FoJ2? {Tomorrow is Akira's birthday.} Akira’s
birthday. 224 so J2fA] Lt L= 11, 22)jA L= L L L WsEolA R2HE 4t0]2. Okay, this is you



know the journal entry, right? Okay, journal is a little bit, you know private and personal thing, right?
Journal journal is ilgi ilgi, journal ilgi ilgi. Say it together 7] ¥7] €7| okay here, so uh we don't need
to say myself in a humble way. That's why you know the writer just wrote here, “naneun” okay, not
jeoneun, okay? Jeoneun is a kind of you know humble way, to say myself, okay? In front of people. 4.

So here L}+= L}= is okay here but this is you know very personal, private writing, okay? 4. L}, J2jA4
L= Higldo] A BLE 4to] Q. AITE-ALR 4018 ATt to buy something, okay? AFCF-AFR-4H0] Q. So I bought
a hat hat. 2} hat or cap, whatever okay? 22Z}E 4t0]8. I bought a hat at the department store. OK
S0l RA}= BA= hat or cap here, 2AH= o}7[2} #] AL ME0]of 2. FOJZ. The hat is a birthday gift
for Akira okay. 22|+ we we £2|= U tomorrow, $2]= WY o]z} A Foj|A] A8 T}E]S 2. We'll
have a birthday party at Akira's house tomorrow. That's good. That's perfect. 2 Y452 o2& Perfect,
wanbyeokaeyo. OFF Aglo]Q o} AgHojQ Now let's read this text a little bit faster, okay? A2}, {$2]=
AlFolA = SAIS HglolR. g M WalHo] Ztoje. L2 of7|2k A Agolol .. J2iA L= WalHoA
H2HE Mole. Bzt of72t N R AEolole. 2l Wi of7Izt A HojlA Y THEIE s} 2, H3loje.

Okay, Z310|Q.

Now we can see reading comprehension check-up questions, okay? 0] AEJE2 AE|E2 of2|B 0 &5 okay?
2= you have to remember 23, okay? 25 Ot|o]| 71o]R? BF W 2X|Q  BE means all, okay? You have
to choose all the correct pictures here, uh okay? AE[E2 Q= ofr]o] 7to]Q? AE|EL2 05 Q& okay &
not W not oA, 2. OK you have to focus on 25 25 25. 25 oft|of 710jQ? 257 1 ¥ or|q.,
of2jg? sty stwde. 2 He ojrjdle? 2 ¥ (el e .
= 32 o|t]of| 22 {Bank} bank bank 23} eunhaeng 23§0]0]| 8. 4 2 ojr]of Q2
M T A e AT sikdang Algololg. 5 WL ojjegr 5 Heo k)
- backwajeom, Zot2. 52 H3}olof| @ MY 6 H2 oft]d 2, 6 H2 oft]d 22
o7|2t A A of7|2} A 3. 22| AE|E2 AEJRLZ Q5 oft|o] 7}o]R? st sk, AYSHL okay,
g Higla. APk, Bkl 2012 okay. £ L gim 0/5% ojcio] 770107 25 224)0.
ot] ofc] ofcjofl gF ZtojR? <t Ftoje? Stua ] »
(9t 7lol8. 230 o 7holg. oflet K] ol &t 94 Q o | Ry

=

0,

1R} 0% & oblet K Aol ¢ Ztele. o,
ZgholQ OK £ol. T A B W, —
H H(myeot beon)? 14, 2, 3, 41, 51 (”‘H% F\H

5
6¥ okay. ZH, ZH HH? W) 20, (44

59} gote ThA 21, 41, 5L

228 2 ¥, 0|R7)E nlR7le AA ghgol] ol 22 mlR71 BlR71, you know Miyuki? Gj2t 315 &jzt 214, of
), AA| gH2of §oje? 11 ¥ 9%, 11€ 109, 11 ¥ 11 2. {11€ 102} 11 ¥ 942 Tote? g, 2
{oA]} ofA| o}A|, you remember eoje, right? OK so 252 HZ0]|o| 27 In the diary, okay in the journal,
252 mAo|o27 {11 € 10%.} 11 ¥ 10 Y. This is 25, right? Okay, 2. He wrote his diary, his journal,



uh when? On November 10th, right? Okay so 2%, that is 2, this is O}, right? This is ©}A]. How
about this one? 11 € 11 ¥? {WY} WY, o, Y. OK J2hA AA) 3t=of] $Ho] 22 oA, Eoje means 11 ¥
9. ZotR. 0L Aojg Aol J2H 3} 3. op7|2te] YL B2 2Yolof| K7 of7|2te] Y o}7|2te]
B AL 25000012, ojAe] ., tiLolo]e? {Ladoloa.} tiLolol. Y WY Fofa. Y Ud2 7&
2Yolo] g, of2}R? {deUolof|g.} YYo|e. 252 F& 2YUoldg? EQUolde, Eedclda. IzjA]
o] QF 71018, okay. Sraof] QF Ftoi2. Y], Fotg. of7]2te] UL dedojof|g. Tote, Aol 1 of

ot Zglo|Q  of2}R of AZojQ. You are so smart uh. OFF 3012 W], THA], in his diary, in his journal,
o] 252 pjAooe? {EQYoloe.} MA? Myeochil? 11 ¥ 10 ¥. F& 8YoldQ? EQYold

2.01871= “jb"*imﬂ 9o} 9? EQUolo|2. 22|H J2|H and then, J2|H oj4|=
Z] 2] 2] gol
11%93\/ ®\11g10%] @11%11%]/ D:] o] 01.9.701Xﬂ017‘ﬂ D:] O] 01-9-?{11.392.}
e Pgr ) 11 €9 2, F& 8903lole? oYL,
| Z8%0lgloja. T I W2 mHojoe?
3[oP7]2te] YR & %-9}°'°'°“37 Naeireun myeochirieyo? {11 €} 11 € 11 ¥

dadolofla. UdgUolola. F-E-Y, right? 2-E-

2 Fote. 2, E, 2. of o} HgaLct

0299 OFKY ©

) 811/4350 : Lﬂ (I]E'] Lectre 34 Unit 5% 20} 278 E15012. Listerng Reacing
ot Zgfole. £2| ot o] Hh4 A t} Zo] IA| Hh4 A2 (keuge %q@l] '
baksu chyeoyo). 2 84 keun baksu. I can say 2 ¥4, 4| 22|21 Hoj| : A

A2oA Ase. Azt APcH A compliment, okay good job.
5ol Ao} Aol of o] Ao ), okay. Y], FotR. 2 £
Aq7IM mFHR, o2&, 4|, o2&, AR (ZARILTE) Qhgs]
7HH|R. Q135 AMIL.}




